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QUESTION 1

Sales details are being stored on a daily basis in the SALES_2007 table. A large amount of data is added to the table
daily. To save disk space, you issued the following command:

ALTER TABLE sales_2007 COMPRESS FOR ALL OPERATIONS;

What would be the outcome of this command?

A. It produces an error because data already exists in the table.

B. It produces an error because compression can be enabled at table creation only.

C. It compresses all data added or modified henceforth but the existing data in the table is not compressed
immediately.

D. It immediately compresses all existing data as well as new data, resulting from either fresh additions or modifications
to existing data.

Correct Answer: C

QUESTION 2
Evaluate the following command and Its output:
SQL>SELECT * FROM dba_temp_free_space;

TABLESPACE_NAME TABLESPACE_SIZE ALLOCATED_SPACE FREE_SPACE LMTEMP 250609664 101048576
149561088

Which two statements correctly interpret the output? (Choose two.)

A. FREE_SPACE indicates only the space that is currently unallocated.

B. ALLO CAT ED_S PACE indicates only the space currently allocated and in use.

C. FREE_SPACE indicates only the space that is currently allocated and available for reuse.

D. ALLO CAT ED_S PACE indicates both the space currently allocated and used, and the space that is available for
reuse.

E. FREE_SPACE indicates both the space that is currently allocated and available for reuse, and the space that is
currently unallocated.

Correct Answer: DE

QUESTION 3

Identify two situations in which you can use Data Recovery Advisor for recovery. (Choose two.)
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A. The database files are corrupted when the database is open

B. The archived log files are missing for which backup is not available.

C. The user has dropped an important table that needs to be recovered.

D. You are not able to start up the database instance because the required database files are missing.

Correct Answer: AD

QUESTION 4

Evaluate the following statements:

CREATE TABLE purchase_orders

(pojd NUMBER(4),

po_date TIMESTAMP,

supplie_id NUMBER(6),

po_total NUMBER(8,2),

CONSTRAINT order_pk PRIMARY KEY (po_id))

PARTITION BY RANGE(po_date)

(PARTITION Q1 VALUES LESS THAN (TO_DATE(?1-apr-20072d-mon-yyyy?),

PARTITION Q2 VALUES LESS THAN (TO_DATE(?1-jul-20072d-mon-yyyy?),

PARTITION Q3 VALUES LESS THAN (TO_DATE(?1-oct-2007?d-mon-yyyy?),

PARTITION Q4 VALUES LESS THAN (TO_DATE(?1-jan-2008?d-mon-yyyy?));

CREATE TABLE purchase_order_items

(po_id NUMBER(4) NOT NULL, product_id NUMBER(6) NOT NULL, unit_price NUMBER(8,2), quantity NUMBER(8),
CONSTRAINT po_items_fk

FOREIGN KEY (po_id) REFERENCES purchase_orders(po_id)) PARTITION BY REFERENCE (po_items_fk);
What are the two consequences of the above statements? (Choose two.)

A. Partitions of PURCHASE_ORDER_ITEMS have system-generated names.

B. Both PURCHASE]DRDERS and PURCHASEJDRDERJTEMS tables are created with four partitions each.

C. Partitions of the PURCHASEJDRDERJTEMS table exist in the same tablespaces as the partitions of the
PURCHASEJDRDERS table.
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D. The PURCHASEJDRDERJTEMS table inherits the partitioning key from the parent table by automatically duplicating
the key columns.

E. Partition maintenance operations performed on the PURCHASEJDRDERJTEMS table are automatically reflected in
the PURCHASE]DRDERS table.

Correct Answer: BC

QUESTION 5

Examine the following PL/SQL block:

SET SERVEROUTPUT ON

SET LONG 10000

ECLARE report clob;

BEGIN

report := DBMS_SPM.EVOLVE_SQL_PLAN_BASELINE();

DBMS_OUTPUT .PUT_LINE(report);

END;

Which statement describes the effect of the execution of the above PL/SQL block?
A. The plan baselines are verified with the SQL profiles.

B. All fixed plan baselines are converted into nonfixed plan baselines.

C. All the nonaccepted SQL profiles are accepted into the plan baseline.

D. The nonaccepted plans in the SQL Management Base are verified with the existing plan baselines.

Correct Answer: D
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